A M & kA RL R K

No. 50
TH (&) 4 Sl B4 AT B AR A e R A b BT 3 MRk R s
oY R4 R R SRR
H 55 ARSETLATHOK)
% L& A eBBRia el
%*L%ﬁi@) ¥9,900,000 %{%WM@%E; ¥8,390,910
E%Hﬂﬁﬁ%?ig) ¥10,300,000
T L THSELILH6H ~ FH64331H
O s o = : EMQL%%E%@?E@(P%)(%R%%)BE -
1| (A &a BRI ¥9,900,000 % AL
2 | (B)WEFEABEEZ— ¥10,100,000
3| OBR) BRBERRGTEE ¥10,000,000
4| (BRp)=E'RVE ¥10,300,000
5| _LIBAiTE R (KR) ¥10,280,000
6 | OF)AIERGHSEBAT ¥10,150,000
7| WREREEBAT ¥9,980,000
8 | Tw—7eatgEakat== (I7) REIR
9 | (BR)PEAILRRE ¥10,200,000
10 (BR) = ffiaxz! ¥9,970,000
11
12
13
14
15
16
17
18
19

20




A M & kA RL R K

No. 55
TH(ZFD) 4 ELREHL N HiL T 22 1 R A S
oy ;R4 ISTERG NIV TS
H 53 ARSHELLHATH(CK) 11FF004)
WL #E GNP 2
féﬂ'(@%y(;g)) ¥4,768,000 %{%”BE‘@;&E; ¥4,481,800
g&gﬂaﬁ%(ﬁ;q;%) ¥5,960,000
T Ly BAGHFEILAL0H ~ FR54E12H 22H
X OH B o = : EMtL%%E%@fE@(P%)(%E&%)B@ -
1| BROKREERIAILZ ¥4,768,000 % AL
2 | BT Z =7 ¥5,960,000
3 (k) HuEPH 3 ¥4,796,000
4 rerzrv=7ys ¥5,960,000
5| (BRpKH=rv=7r7 REIR
6| BRREZLY=FV 7 ¥5,960,000
7| (BR) PSRBT BA 7S ¥5,950,000
8 | (A)H FEHEMF RER
9 | KRR ¥5,960,000
10 B HTRILZAR ¥5,960,000
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No. 54
5 (%) 4 BUREHN X B PR A 375 (8 LX)
oy ;R4 ISTERG NIV TS
H 53 ARISHELLHA TH(K) 10FF004)
WL #E () E—HRE A
féﬂ'(@%y(;g)) ¥1,406,000 %{%”BE‘@;@@ ¥1,384,396
E%Hﬂﬁﬁ%?jg) ¥1,841,000
T Ly AFBEILHI0H ~ AF64E2H 22 H
X OH B o = : EMQL%%E%E%;%E@(P%)(%H%%)B@ -
1| () 7—rrvzy=77 ¥1,657,000
2 | Wrerzrv=7vs ¥1,750,000
3| Rk (R ¥1,841,000
4| R Y=T7V s ¥1,840,000
5 (BF) E—HRAELA ¥1,406,000 % AL
6 | (F) B3 ¥1,650,000
7| (B ERRGE ¥1,841,000
8 | (A) = RmEAN & ¥1,841,000
9| BT/ ¥1,841,000
10| (B B bAERE a1
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No. 47
TH (&) 4 T ANBAE L/ N AR S K B R R R A 2
oY R4 AT TR
H 53 AAGHIIH 14 H () 10853057
% AL = (BR) A —m——
7’5“@%@ ¥1,150,000 %‘%”KE@%;E; ¥984,148
E%Hﬂﬁﬁ%;}g) ¥1,230,000
T L AFBEILH 16 H ~ AF64E2H 29 H
AL oB om = : Eﬂﬂ%—%ﬁ%ﬁ%m)(ﬁﬁi%)g@ -
1| A—z—— ¥1,150,000 % L
2 [ ) s ges ¥1,230,000
3| BB =7V ¥1,230,000
4| RPRRZE (R) ¥1,230,000
5 (BF) Hgidtar sk ¥1,230,000
6 | &t HE ARG FET ¥1,220,000
T (K FESR BT BE ¥1,210,000
8 | (BR) xR ¥1,230,000
9| BOMTr/ ¥1,230,000
10| (BK) F ARG ¥1,220,000
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A M #E kW LA R X
59
TH (&) 4 A RNBAFE L2 FL N5 K FEte i A T
oY R4 ISTERG NIV TS
H 53 AASHFITH 14 H (K) 13853057
% AL = (k) G- AR A Bk &
%*L'(é%y(j@)) ¥9,700,000 %‘%W@;ﬁ%@ ¥7,159,843
”X”Hﬂﬁt%yig) ¥9,950,000
T L AFBEILH20H ~ SF64E3 H 14 H
X OH B o = : Eﬂﬂ%ﬁaiﬁ(ﬁ%%@ﬁﬁ%)g@ -
1| BRA—=—1— FE3 R
2 | () M EARER G L2 b ¥9,900,000
3| W H=rv=7V7 ¥9,800,000
4 B BPE= =T ¥9,900,000
5 (B HUBER AP Z N ¥9,860,000
6 | (B) BBUER=a P2k ¥9,900,000
7| ABskEEE (R ¥9,900,000
8 | (BR) ALBEERR= P LZ b ¥9,850,000
9| WOHR=IAPZ ¥9,830,000
10| (B G- ARsE =G ¥9,700,000 % L
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No. 53
5 (%) 4 RS FE A T AGE BUG AN
oy ;R4 ISTERG NIV TS
H [RE ARSI 27 A (H) 13050057
%L & CEpl =N
YML'(&?W(;;)) ¥6,900,000 %‘%W@;ﬁ%@ ¥5,298,319
g%ﬂﬂﬁﬁ%?ig) ¥7,060,000
T Ly AFBEILH 290 ~ A F64E3 H 31 H
X OH B o = : EMQL%%E%@?%F‘%)(%E%%)BE -
1| =z ¥6,900,000 % AL
2 | A7 I ¥6,950,000
3| R hpk= Pz ¥7,000,000
4 (BR) st = Pz b ¥6,980,000
51 B H=rv=7Vr7 ¥7,060,000
6| (B)=EXRVE ¥7,060,000
7| BRREZV=FYT ¥7,030,000
8 | (KR IEMI &7 ¥7,000,000
9 | (BF) _Ahzi W&ok ¥7,000,000
10| (BF) P EAERE ¥7,050,000
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